# On the Szekely-Mori Asymmetry Criterion Statistics for Binary Vectors with Independent Components

Dmitrii O. Menshenin<sup>1</sup> and Andrew M. Zubkov<sup>2</sup>

<sup>1</sup>Moscow State University, Moscow, Russia <sup>2</sup>Steklov Mathematical Institute of RAS, Moscow, Russia

**Abstract:** For random binary vectors the first two moments and limit distributions of statistics in a recently proposed by Székely and Móri criterion of asymmetry of a distribution are investigated.

**Keywords:** Test, Symmetry of Distribution, Random Binary Vectors, Limit Distribution.

## **1** Introduction

Let  $X, X_1, X_2, \ldots$  be i.i.d.  $\mathbb{R}^d$ -valued random vectors and ||X|| denotes a Euclidian norm of vector X. It was shown by Szekely and Mori (2001) that  $\mathbb{E}(||X_1+X_2||-||X_1-X_2||) \ge 0$  and that  $\mathbb{E}(||X_1+X_2||-||X_1-X_2||) = 0$  if and only if X is symmetrically distributed (i.e., if the distributions of X and -X coincide).

A sequence of statistics

$$T_n = T_n(X_1, \dots, X_n) = \frac{\sum_{1 \le i < j \le n} (\|X_i + X_j\| - \|X_i - X_j\|)}{\sum_{1 \le i \le n} \|X_i\|}$$

was proposed by Szekely and Mori (2001) as a base of a consistent test for symmetry against general alternatives. According to Szekely and Mori (2001) if  $E(||X||) < \infty$  and  $x(\alpha) = (\Phi^{-1}(1 - \alpha/2))^2$  then

$$\sup_{H_0} \lim_{n \to \infty} \Pr\{1 + T_n \ge x(\alpha)\} = \alpha, \tag{1}$$

where  $H_0$  is the set of all symmetrical distributions in  $\mathbb{R}^d$ .

Here the equality holds for two-point symmetric distributions where  $Pr\{X_1 = a\} = Pr\{X_1 = -a\} = 1/2$  for some  $a \in \mathbb{R}^d \setminus \{0\}$ . Hence,

$$\Pr\left\{T_n = \frac{1}{n}(n-2m)^2 - 1\right\} = \frac{1}{2^n}C_n^m, \qquad m = 0, 1, \dots, n,$$

and  $E(T_n) = 0$ ,  $D(T_n) = 2(n-1)/n$ . According to the deMoivre-Laplace theorem

$$\Pr\left\{T_n + 1 \le x\right\} \to \Phi(\sqrt{x}) - \Phi(-\sqrt{x}), \qquad n \to \infty,$$

which corresponds to (1).

### 2 Main Results

We will consider the case when the distribution of the vector X is concentrated on a vertex set  $V_d = \{B = (b_1, \dots, b_d) : b_j \in \{-1, +1\}, j = 1, \dots, d\}$  of d-dimensional cube (so  $\Pr\{||X|| = \sqrt{d}\} = 1$  and  $T_n$  is a U-statistics in this case).

If  $X = (x_1, ..., x_d)$  is uniformly distributed on  $B_d$  then  $x_1, ..., x_d$  are independent and  $\Pr\{x_i = -1\} = \Pr\{x_i = 1\} = 1/2$ . If the random vector Y is independent and identically distributed with X then

$$E(||X + Y|| - ||X - Y||) = 0.$$
(2)

**Theorem 1.** If random vectors  $X = (x_1, ..., x_d)$ ,  $Y = (y_1, ..., y_d)$  are independent and uniformly distributed on  $V_d$ ,  $d \ge 1$ , then

$$D(\|X+Y\| - \|X-Y\|) = \frac{1}{2^{d-3}} \sum_{m=0}^{d} C_d^m \left(\frac{d}{2} - \sqrt{m(d-m)}\right) = 2 + \frac{\theta_d}{d}, \ \theta_d \in \left[\frac{1}{2}, 6\right].$$

PROOF. In view of (2)

$$D(||X + Y|| - ||X - Y||) = E\left(\sqrt{\sum_{j=1}^{d} (x_j + y_j)^2} - \sqrt{\sum_{j=1}^{d} (x_j - y_j)^2}\right)^2$$
$$= 2E\left(\sum_{j=1}^{d} (x_j^2 + y_j^2)\right) - 2E\left(\sqrt{\sum_{j=1}^{d} (x_j + y_j)^2} \sqrt{\sum_{j=1}^{d} (x_j - y_j)^2}\right).$$

In our case  $\mathbb{E}\left(\sum_{j=1}^{d} (x_j^2 + y_j^2)\right) = 2d$ . Let us consider sets  $A_m = \{(B, C) \in V_d \times V_d : |\{k : b_k = c_k\}| = m\}$  for  $m = 0, \ldots, d$ . If  $(B, C) \in A_m$  then

$$\sqrt{\sum_{j=1}^{d} (b_j + c_j)^2} \sqrt{\sum_{j=1}^{d} (b_j - c_j)^2} = 4\sqrt{m(d-m)}.$$

The set  $A_m$  consists of  $C_d^m 2^d$  elements, the set of all possible pairs (B, C) consists of  $2^{2d}$  elements. Consequently,

$$E\left(\sqrt{\sum_{j=1}^{d} (x_j + y_j)^2} \sqrt{\sum_{j=1}^{d} (x_j - y_j)^2}\right) = \frac{1}{2^{d-2}} \sum_{m=0}^{d} C_d^m \sqrt{m(d-m)}$$

and

$$D(||X_1 + X_2|| - ||X_1 - X_2||) = 4d - \frac{1}{2^{d-3}} \sum_{m=0}^d C_d^m \sqrt{m(d-m)}$$
$$= \frac{1}{2^{d-3}} \sum_{m=0}^d C_d^m \left(\frac{d}{2} - \sqrt{m(d-m)}\right) = 8E\left(\frac{d}{2} - \sqrt{\xi(d-\xi)}\right),$$

where  $\xi$  is a random variable with the binomial distribution Bin(d, 1/2).

It is easy to check that  $E(\xi - d/2)^2 = d/4$ ,  $E(\xi - d/2)^4 = d(3d - 2)/16$  and

$$1 - \frac{x}{2} - \frac{x^2}{2} \le \sqrt{1 - x} \le 1 - \frac{x}{2} - \frac{x^2}{8} \qquad \text{for } 0 \le x \le 1.$$

So

$$\begin{aligned} \frac{d}{2} - \sqrt{x(d-x)} &= \frac{d}{2} \left( 1 - \sqrt{1 - \left(\frac{x - d/2}{d/2}\right)^2} \right) \\ &= \frac{d}{2} \left( \frac{1}{2} \frac{(x - d/2)^2}{(d/2)^2} + \theta \frac{(x - d/2)^4}{(d/2)^4} \right) = \frac{(x - d/2)^2}{d} + 8\theta \frac{(x - d/2)^4}{d^3}, \quad \theta \in \left[ \frac{1}{8}, \frac{1}{2} \right], \end{aligned}$$

and

$$D(||X_1 + X_2|| - ||X_1 - X_2||) = 8E\left(\frac{d}{2} - \sqrt{\xi(d-\xi)}\right)$$
$$= 8E\left(\frac{(\xi - d/2)^2}{d} + 8\theta\frac{(\xi - d/2)^4}{d^3}\right) = 2 + \frac{\theta_d}{d}, \qquad \theta_d \in \left[\frac{1}{2}, 6\right]$$

(The set of possible values of  $\theta_d$  was widened to be valid for all  $d \ge 1$ .) Theorem 1 is proved.

**Theorem 2.** If random variables  $X = (x_1, \ldots, x_d)$ ,  $Y = (y_1, \ldots, y_d)$  are independent and uniformly distributed on  $V_d$  then for all  $t \in (-\infty, \infty)$ 

$$\Pr\{(\|X+Y\| - \|X-Y\|) \le t\} \to \Phi\left(\frac{t}{\sqrt{2}}\right), \qquad d \to \infty.$$

PROOF. The distribution of ||X + Y|| - ||X - Y|| coincides with that of  $\eta = 2(\sqrt{\xi_d} - \sqrt{d - \xi_d})$ , where  $\xi_d$  has a binomial distribution Bin(d, 1/2).

Notice that the function  $u(x) = \sqrt{x} - \sqrt{d-x}$  is increasing on [0, d]. Therefore,

$$F_{\eta}(x) = \Pr\{\eta \le x\} = \sum_{m:u(m) \le x} p_m, \quad \text{where} \quad p_m = \Pr\{\xi_d = m\} = \frac{1}{2^d} C_d^m,$$

It is easy to check that  $k(t) \stackrel{\text{def}}{=} \max\{x : u(x) \le t\} = \frac{d}{2} + \frac{t}{2}\sqrt{\frac{d}{2}}\sqrt{1 - \frac{t^2}{8d}}$ . Consequently,

$$F_{\eta}(t) = \Pr\{\eta \le t\} = \sum_{m=0}^{k(t)} p_m = \Pr\{\xi_d \le k(t)\}$$
$$= \Pr\left\{\frac{\xi_d - d/2}{\sqrt{d}/2} \le \frac{t}{\sqrt{2}}\sqrt{1 - \frac{t^2}{8d}}\right\} \to \Phi\left(\frac{t}{\sqrt{2}}\right), \qquad d \to \infty$$

for each  $t \in (-\infty, \infty)$  due to the deMoivre-Laplace theorem.

By means of Theorem 1 we may find two first moments of the U-statistics  $T_n$  for uniform distribution on  $V_d$ . We have

$$\mathbf{E}(T_n) = \frac{(n-1)}{2\sqrt{d}} \mathbf{E}(\|X_1 + X_2\| - \|X_1 - X_2\|) = 0.$$

Since for independent vectors  $X_1, X_2, \ldots$  with symmetrical distribution on  $V_d$  for any  $a \in V_d$  we have

$$E(\|a + X_i\| - \|a - X_i\|) = 0,$$

$$E(\|a + X_i\| - \|a - X_i\|)(\|a + X_j\| - \|a - X_j\|) = 0, \quad i \neq j,$$
(3)

it follows that

$$\operatorname{cov}(\|X_i + X_j\| - \|X_i - X_j\|, \|X_k + X_l\| - \|X_k - X_l\|) = 0$$

for all  $1 \le i < j, 1 \le k < l, (i, j) \ne (k, l)$ . So

$$D(T_n) = \frac{1}{n^2 d} D\left(\sum_{1 \le i < j \le n} (\|X_i + X_j\| - \|X_i - X_j\|)\right)$$
$$= \frac{n-1}{2nd} D(\|X_1 + X_2\| - \|X_1 - X_2\|) \to \frac{1}{d}, \qquad d \to \infty$$

Due to (3) U-statistics  $T_n$  are degenerate ones. Applying the results of Gregory (1977) (see also Korol'uk and Borovskih (1989)) to our case we obtain that if d = const and  $n \to \infty$  then distributions of U-statistics  $T_n$  converge to the distribution of  $\sum_{k=1}^{2^d} c_k \nu_k^2 - 1$ , where  $\nu_1, \nu_2, \ldots$  are independent random variables with standard Gaussian distribution,  $c_k \ge 0$ ,  $\sum c_k = 1$  and the coefficients  $c_k$  are the eigenvalues of operator  $S : f(x) \to \text{E}(||X_1 + x|| - ||X_1 - x||)f(X_1)$  in  $L^2(V_d)$  (see Szekely and Mori, 2001). The exact formulas for these coefficients in the case of general d are under investigation.

This results may be used to construct a goodness-of-fit test for generators of random or pseudorandom bits.

Now we consider a class of nonuniform distributions on  $V_d$  corresponding to random vectors with independent components.

**Theorem 3.** If random vectors  $X = (x_1, ..., x_d)$ ,  $Y = (y_1, ..., y_d)$  with values in  $V_d$  are independent identically distributed with independent components,

$$\Pr\{x_j = 1\} = \frac{1}{2} + \varepsilon_j^{(d)}, \ \Pr\{x_j = -1\} = \frac{1}{2} - \varepsilon_j^{(d)}, \ |\varepsilon_j^{(d)}| < \frac{1}{2}, \ j = 1, \dots, d$$

*if*  $d \to \infty$  *and for some*  $\delta > 0$ 

$$a_d \stackrel{\text{def}}{=} \frac{4}{d} \sum_{j=1}^d \left(\varepsilon_j^{(d)}\right)^2 < 1 - \delta \quad \text{for all } d,$$

then the distribution of ||X + Y|| - ||X - Y|| is asymptotically normal with parameters

$$\left(\frac{2a_d\sqrt{2d}}{\sqrt{1-a_d}+\sqrt{1+a_d}}, (1-b_d)\frac{1+\sqrt{1-a_d^2}}{1-a_d^2}\right), \quad \text{where } b_d \stackrel{\text{def}}{=} \frac{16}{d} \sum_{j=1}^d \left(\varepsilon_j^{(d)}\right)^4 < a_d.$$

PROOF. Note that  $||X + Y||^2 = \sum_{j=1}^d (x_j + y_j)^2 = 4\xi_d$ ,  $||X - Y||^2 = 4d - ||X + Y||^2$ , where  $\xi_d = \xi_d(\varepsilon_1, \dots, \varepsilon_d)$  is the sum of d independent indicators:

$$\xi_d = \sum_{j=1}^d \eta_j, \quad \eta_j = I(x_j = y_j), \quad \Pr\{\eta_j = 1\} = \frac{1}{2} + 2\left(\varepsilon_j^{(d)}\right)^2, \quad j = 1, \dots, d.$$

$$E(\xi_d) = \frac{d}{2} + 2\sum_{j=1}^d \left(\varepsilon_j^{(d)}\right)^2 = \frac{d}{2}(1+a_d), \quad D(\xi_d) = \frac{d}{4} - 4\sum_{j=1}^d \left(\varepsilon_j^{(d)}\right)^4 = \frac{d}{4}(1-b_d),$$
$$\sum_{j=1}^d E(|\eta_j - E(\eta_j)|^3) < \frac{d}{8}.$$

Therefore

$$\Pr\{\|X + Y\| - \|X - Y\| \le x\} = \Pr\left\{\sqrt{\xi_d} - \sqrt{d - \xi_d} \le \frac{x}{2}\right\}$$
(4)  
$$= \Pr\left\{\sqrt{\frac{1}{d}\xi_d} - \sqrt{1 - \frac{1}{d}\xi_d} \le \frac{x}{2\sqrt{d}}\right\}.$$

It follows from Lyapunov's theorem and conditions of Theorem 3 that  $\frac{1}{d}\xi_d$  is asymptotically normal with parameters  $(\frac{1}{2}(1 + a_d), \frac{1}{4d}(1 - b_d))$ . Because the derivative of the function  $s(x) = \sqrt{x} - \sqrt{1 - x}$  is strictly positive and bounded on  $[\frac{1}{2}, 1 - \delta]$ , the random variable  $s(\frac{1}{d}\xi_d) = \sqrt{\frac{1}{d}\xi_d} - \sqrt{1 - \frac{1}{d}\xi_d}$  is asymptotically normal with parameters

$$\left(s(\frac{1}{d}\mathrm{E}(\xi_d)), (s'(\frac{1}{d}\mathrm{E}(\xi_d)))^2\mathrm{D}(\frac{1}{d}\xi_d)\right) = \left(\frac{a_d\sqrt{2}}{\sqrt{1-a_d}+\sqrt{1+a_d}}, \frac{1+\sqrt{1-a_d^2}}{1-a_d^2}\frac{1-b_d}{4d}\right).$$
(5)

Consequently, the random variable  $2(\sqrt{\xi_d} - \sqrt{d - \xi_d})$  is asymptotically normal with parameters

$$\left(\frac{2a_d\sqrt{2d}}{\sqrt{1-a_d}+\sqrt{1+a_d}},\frac{1+\sqrt{1-a_d^2}}{1-a_d^2}(1-b_d)\right),$$

and Theorem 3 is proved.

Theorem 2 is a particular case of Theorem 3, but its statement is simpler. **Theorem 4.** If the conditions of Theorem 3 are satisfied then there exists a constant  $C = C(a_d) < \infty$  such that

$$\left| \mathbf{E}(\|X+Y\| - \|X-Y\|) - \frac{2a_d\sqrt{2d}}{\sqrt{1-a_d} + \sqrt{1+a_d}} \right| < \frac{C}{\sqrt{d}},\tag{6}$$

and

$$D(\|X+Y\| - \|X-Y\|) = \frac{1+\sqrt{1-a_d^2}}{1-a_d^2}(1-b_d+o(1)), \qquad d \to \infty.$$
(7)

PROOF. We will use notations introduced in the proof of Theorem 3. According to (4)

$$E(||X + Y|| - ||X - Y||) = 2\sqrt{d}Es(\frac{1}{d}\xi_d), \qquad s(x) = \sqrt{x} - \sqrt{1 - x}.$$
(8)

The function  $s(x), x \in [0, 1]$ , has quadratic lower and upper bounds:

$$s(\frac{1}{d}E(\xi_d)) + s'(\frac{1}{d}E(\xi_d))(x - \frac{1}{d}E(\xi_d)) - C_1(x - \frac{1}{d}E(\xi_d))^2 \le s(x) \le \\ \le s(\frac{1}{d}E(\xi_d)) + s'(\frac{1}{d}E(\xi_d))(x - \frac{1}{d}E(\xi_d)) + C_2(x - \frac{1}{d}E(\xi_d))^2,$$
(9)

So,

where

$$C_{1} = \frac{1 + s(\frac{1}{d}\mathrm{E}(\xi_{d})) - s'(\frac{1}{d}\mathrm{E}(\xi_{d}))\frac{1}{d}\mathrm{E}(\xi_{d})}{(\frac{1}{d}\mathrm{E}(\xi_{d}))^{2}},$$
  

$$C_{2} = \frac{1 - s(\frac{1}{d}\mathrm{E}(\xi_{d})) - s'(\frac{1}{d}\mathrm{E}(\xi_{d}))(1 - \frac{1}{d}\mathrm{E}(\xi_{d}))}{(1 - \frac{1}{d}\mathrm{E}(\xi_{d}))^{2}}$$

By means of these estimates we obtain

$$\left| \mathbf{E}(s(\frac{1}{d}\xi_d)) - s(\frac{1}{d}\mathbf{E}(\xi_d)) \right| \le \max\{C_1, C_2\} \mathbf{D}(\frac{1}{d}\xi_d) < \max\{C_1, C_2\} \frac{1}{4d}.$$
 (10)

Inequality (6) is a consequence of (8), (10) and  $E(\frac{1}{d}\xi_d) = \frac{1+a_d}{2}$ . It follows from Theorem 3 that there exists a sequence  $\{\alpha_d\}$  such that  $\alpha_d \to 0$  as  $d \to \infty$  and  $\mathbb{D}(\|X+Y\| - \|X-Y\|) = 4d\mathbb{D}(s(\frac{1}{d}\xi_d)) \ge (1-\alpha_d)(1-b_d)\frac{1+\sqrt{1-a_d^2}}{1-a_d^2}$ . To obtain upper bounds we use (9) as follows:

$$D(s(\frac{1}{d}\xi_d)) \leq E(s(\frac{1}{d}\xi_d) - s(E(\frac{1}{d}\xi_d)))^2$$
  
=  $E\left(s'(E(\frac{1}{d}\xi_d))(\frac{1}{d}\xi_d - E(\frac{1}{d}\xi_d)) + C^*\theta(\frac{1}{d}\xi_d - E(\frac{1}{d}\xi_d))^2\right)^2$ 

where  $C^* = \max\{C_1, C_2\}$  and  $\theta$  is a random variable,  $\Pr\{|\theta| \le 1\} = 1$ . Therefore,

$$D(s(\frac{1}{d}\xi_d)) \le (s'(E(\frac{1}{d}\xi_d)))^2 E(\frac{1}{d}\xi_d - E(\frac{1}{d}\xi_d))^2 + 2C^* s'(E(\frac{1}{d}\xi_d)) E(|\frac{1}{d}\xi_d - E(\frac{1}{d}\xi_d)|^3) + C^{*2} E(\frac{1}{d}\xi_d - E(\frac{1}{d}\xi_d))^4.$$

But  $\operatorname{E}(\frac{1}{d}\xi_d - \operatorname{E}(\frac{1}{d}\xi_d))^2 = \operatorname{D}(\frac{1}{d}\xi_d) = \frac{1-b_d}{4d}$  and

$$E(\frac{1}{d}\xi_d - E(\frac{1}{d}\xi_d))^4 \le 3\frac{(1-b_d)^2}{16d^2} + \frac{1-b_d}{4d^3} = 3\frac{(1-b_d)^2}{16d^2} \left(1 + \frac{4}{(1-b_d)d}\right),$$

because if  $S_n = \chi_1 + \cdots + \chi_n$  is a sum of n independent indicators then (it is easy to check by induction)

$$E(S_n - E(S_n))^4 = 3(D(S_n))^2 + D(S_n) - 6\sum_{k=1}^n (D(\chi_k))^2.$$

Further, according to the Lyapunov inequality and condition  $b_d < 1 - \delta$ 

$$\mathbf{E}(|\frac{1}{d}\xi_d - \mathbf{E}\frac{1}{d}\xi_d|^3) \le \left(\mathbf{E}(\frac{1}{d}\xi_d - \mathbf{E}(\frac{1}{d}\xi_d))^4\right)^{3/4} \le 3\frac{(1-b_d)^{3/2}}{8d^{3/2}}\left(1 + \frac{4}{\delta d}\right)$$

so

$$\begin{aligned} \mathbf{D}(s(\frac{1}{d}\xi_d)) &\leq (s'(\mathbf{E}(\frac{1}{d}\xi_d)))^2 \frac{1-b_d}{4d} + 3\left(1 + \frac{4}{\delta d}\right) \left(2C^*s'(\mathbf{E}(\frac{1}{d}\xi_d)) \frac{(1-b_d)^{3/2}}{8d^{3/2}} + \frac{(1-b_d)^2}{16d^2}\right) \\ &= \frac{1 + \sqrt{1-a_d^2}}{1-a_d^2} (1-b_d + o(1)) \qquad \text{as } d \to \infty, \end{aligned}$$

and equality (7) and Theorem 4 are proven.

If  $X = (x_1, \ldots, x_d)$ ,  $X_1, X_2, \ldots$  are independent identically distributed random vectors with values in  $V_d$  with independent components,

$$\Pr\{x_j = 1\} = \frac{1}{2} + \varepsilon_j, \quad \Pr\{x_j = -1\} = \frac{1}{2} - \varepsilon_j, \qquad j = 1, \dots, d, \quad \sum_{j=1}^{a} \varepsilon_j^2 > 0,$$

then their distribution is asymmetric, U-statistics

$$T_n = \frac{1}{n\sqrt{d}} \sum_{1 \le i < j \le n} (\|X_i + X_j\| - \|X_i - X_j\|)$$

are nondegenerate and according to Hoeffding (1948) distributions of  $T_n$  as  $n \to \infty$  are asymptotically normal with parameters

$$\left(\frac{n}{2\sqrt{d}}\mathbb{E}(\|X_1+X_2\|-\|X_1-X_2\|),\frac{4n}{d}\mathbb{E}(D\{\|X_1+X_2\|-\|X_1-X_2\||X_1\})\right).$$

For finite d and fixed  $\varepsilon_1, \ldots, \varepsilon_d$  the parameters of asymptotic normality take concrete values.

Let the conditions of Theorem 3 be now fulfilled. Then we may use the results of Mihailov (1975) (in this paper the central limit theorem for U-statistics was proven by the method of moments under the assumption that the distributions of  $X_i$  and the form of the kernels may depend on n). In this case  $T_n$  are asymptotically normal with parameters

$$\left(\frac{na_d\sqrt{2}}{\sqrt{1-a_d}+\sqrt{1+a_d}}, \frac{n(a_d-b_d)}{d}\frac{1+\sqrt{1-a_d^2}}{1-a_d^2}\right)$$

We omit the proofs of these formulas.

#### Acknowledgements

The work of the second author was partly supported by the Leading Scientific Schools Support Fund of the President of Russia Federation, grant 4129.2006.1, and by the Program of RAS "Modern Problems of Theoretical Mathematics".

#### References

- Gregory, G. G. (1977). Large sample theory for U-statistics and tests of fit. Annals of Statistics, 5, 110-123.
- Hoeffding, W. (1948). A class of statistics with asymptotically normal distribution. *Annals of Mathematical Statistics*, 19, 293-325.
- Korol'uk, V. S., and Borovskih, J. V. (1989). *Theory of U-Statistics (in Russian)*. Kiev, USSR: Naukova dumka.
- Mihailov, V. G. (1975). Central limit theorem for nonhomogeneous U-statistics of finitely-dependent random variables (in Russian). *Matem. Sb.*, 98, 624-634.

Szekely, G. J., and Mori, T. F. (2001). A characteristic measure of asymmetry and its application for testing diagonal symmetry. *Communications in Statistics – Theory and Methods*, *30*, 1633-1639.

Authors' Addresses:

Dmitrii O. Menshenin Department of Mathematical Statistics and Random Processes Faculty of Mechanics and Mathematics Lomonosov Moscow State University Leninskie Gory 119992 Moscow Russian Federation E-mail: pokedom@yandex.ru

Andrew M. Zubkov Department of Discrete Mathematics Steklov Mathematical Institute Gubkina Str. 8 119991 Moscow Russia

E-mail: zubkov@mi.ras.ru